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1 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 6.00 75.21 | =04 | 0.00 ~ 0.00 | 1.60 8.66 Thlst 1.00 | 5.00 ~ 7.27 75.21 | #hS | 5.00 ~ 7.27 ] 1.60 8.66
2 100kN/mM%#8x5 | 1.00 | 0.00 ~ 0.36 105.38 |3mZE#BZB| — ~ — — — | 100kN/m%#Bz25 | 1.00 | 1062 ~ 11.66| 10538 |3mEBZ5 - ~ — — —
s 1.00 | 0.36 ~ 815 100.00 | #nLst | 000 ~ 815|212 11.36 Thlst 1.00 | 5.00 ~ 1062 100.00 | =nLst | 5,00 ~ 1166 2.12 11.36
3 100kN/mM##8x5 | 1.00 | 0.00 ~ 0.06 100.85 |3m%E#BZB| — ~ — — — | 100kN/mZ#Bz25 | 1.00 | 1095 ~ 11.12| 100.85 |3mEBZ5 - ~ — — —
s 1.00 | 0.06 ~ 7.84 100.00 | #=nLst | 0.00 ~ 7.84 | 2.06 11.00 Thlst 1.00 | 5.00 ~ 10.95 100.00 | =nst | 5.00 ~ 1112 2.06 11.00
4 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 7.12 90.46 | =St | 0.00 ~ 7.12| 1.96 10.561 Thlst 1.00 | 5.00 ~ 9.84 90.46 | Th4 | 5,00 ~ 9.84 | 1.96 10.51
5 100kN/mM%#BZ 5 — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 4.76 59.28 | =nbst 000 ~ 4.76 | 1.91 10.20 Thlst 1.00 | 5.00 ~ 5.30 59.28 | =hLs | 5,00 ~ 530 | 1.91 10.20
100kN/mM%#BZ 5 ~ ImERBAD ~ 100kN/ Mm% % % ~ ImEHAD ~
zhst ~ st ~ st ~ zhst ~
100kN/MZ#8 2 % ~ 3mEEBZD ~ 100kN/ Mm%z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEBZD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEBZD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8Z % ~ 3mEBZD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8Z % ~ 3mEBZD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEEZD ~ 100kN/mM%E#BZ 5 ~ ImEBZD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEBZD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEEZD ~ 100kN/mM%E#Z 5 ~ ImEBZD ~
Ths ~ zhLst ~ ZzhLst ~ Ths ~
100kN/mMZ#8Z % ~ 3ImEEZD ~ 100kN/mM%E#Z 5 ~ ImEBZD ~
Ths ~ st ~ st ~ Ths ~
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